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Divide Decimal by Whole Number

Solve the following division problems.

0.40.8 ÷ = 0.30.9 ÷ =

0.71.4 ÷ = 0.52.5 ÷ =

0.10.4 ÷ = 0.42.4 ÷ = 0.43.6 ÷ =

0.62.4 ÷ = 0.51.5 ÷ = 1.16.6 ÷ =

0.72.1 ÷ = 0.20.8 ÷ = 1.54.5 ÷ =

0.73.5 ÷ = 0.32.7 ÷ = 0.98.1 ÷ =

0.64.2 ÷ = 0.54.5 ÷ = 0.63.6 ÷ =

1.15.5 ÷ = 1.42.8 ÷ = 0.85.6 ÷ =
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Answers

Solve the following division problems.

0.420.8 ÷ = 0.330.9 ÷ =

0.721.4 ÷ = 0.552.5 ÷ =

0.140.4 ÷ = 0.462.4 ÷ = 0.493.6 ÷ =

0.642.4 ÷ = 0.531.5 ÷ = 1.166.6 ÷ =

0.732.1 ÷ = 0.240.8 ÷ = 1.534.5 ÷ =

0.753.5 ÷ = 0.392.7 ÷ = 0.998.1 ÷ =

0.674.2 ÷ = 0.594.5 ÷ = 0.663.6 ÷ =

1.155.5 ÷ = 1.422.8 ÷ = 0.875.6 ÷ =


